Pair Spectrometer. First look.

Victor Tarasov



Applied cuts

e 1st T-counter
e Tdiff < 10ns
e Skim files for PS



Time from tagger — PS time (before reconstruction,
PSHIT bank) 1% T-counter

h_pshit_diff

h_pshit_diff
Entries 2.309675e+07
Mean 67.64
RMS 74.75
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h_pshit_diff
Entries 2.309675e+07
Mean -0.2948
RMS 3.531
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Time from tagger — time from PS (after
reconstruction, PSR bank ) 1% T-counter

h_time_diff

h_time_diff
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Plans

 Make alignment for all T-counters.



600

500

400

300

200

100

T group TDC — tagger time (all
T-counters)

h t tag
h_t tag

— Entries 920606
B Mean 2.98
B RMS 34.34
—All T-counters

~ 1 skim run file
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15 T-counter

h t tag
h_t tag

— Entries 1062639
800 — Mean 11.73
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